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We can see from the graph, that total area equals 0. Let’s prove it algebraic:

The purple line corresponds to |In |x||. The first part of area is:
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S1 =f [In |x]||dx
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Use integration by parts:

1

1 sgnx
51=f lIn [x||dx = |1n|x|||£1—f 8
-1

dx =2
1 xl

The second part of area is:
Blue line on the graph corresponds to In|x|

So

0
Szf In|x| = -1
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The third part of the area is:
Red line in the graph corresponds to Inx

So

1
53:flnx=—1
0

The total area is:
Stotal =S1+ S, +5;=2—-1-1=0

Answer: S;prq = 0
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